NAME

SUMMER MATH FOR NEW 5™ GRADE STUDENTS

80 x 10 = 5,000 =500 = 318x4 =
67 x 59 = 620 == 5 = 7,249 == 8 =
3030 - 1967= 3/6 +2/6 = (5x3)+(7-2) =
Compare:
14.13 + 5.69 = 6x4/5 =
7.09 7.9
57/8-31/8= 11/3-2/3= 72,657 +51,265=




Fill in the blank: 45
5is times
as many as 5.

23,485

3isinthe
place.

Round 23, 485 to
the nearest
hundreds place.

Compare the
following fractions:

4 2/5

Show two different
ways to decompose

Circle the prime
number. Why is it

What is the answer
called in division?

Write as a fraction.
Then circle the

5/6. prime? numerator:
3,6,8,9 Two fifths
Write the word Write the standard | Write the expanded | 3 ft = in.
form of 3, 415. form of twenty nine | form of 2, 868.
thousand 3
hundred 5.
Put the numbers in order: 556 — 378 = 296 +377 =

312, 306, 36, 3.4, 3,709




Underline important information for each word problem.

Show number sentences in box.

Answer the question in a complete sentence.

There are 64 fifth graders at the A grocery store uses 3,452 plastic
church. If each fifth grader sells 15 bags in one week. If the store uses 5
raffle tickets, how many tickets will times as many bags for the whole
the fifth grade sell all together? month, how many bags does the

store use that month?

A 7 night vacation package costs Michael has 3/5 can of paint. He uses
$2,583 altogether. What is the cost 1/5 can of paint for the closet. How
for each night? many more closets of the same size

can he paint with the remaining
paint?




Undefline important infurnvation Yur @ach word prublem.

Show number sentences in box.

Answer the question in a complete sentence.

Matilda is making punch. If she mixes
2 cups of orange juice with 4 cups of
pineapple juice, how many ounces of
punch does she make? (Hint: 80z =1

cup)

Delaney ran 5/10 kilometers. Then he
ran 20/100 kilometer. How many
total kilometers did he run?

Emma has a rectangular piece of
wood that is 20 cm long. Its area is 60
square centimeters. What is the
width of the piece of wood? (Draw a
picture to help.)

There are 104 party guests divided
equally among 8 tables. How many
party guests are at 3 tables?




